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SPECIAL REQUIREMENTS:

CALCULATOR



QUESTION 1

(a) Blue Denim Company makes blue jeans. The company controller wants to calculate
the fixed and variable costs associated with electricity used in the factory. Data for the
past 8 months were collected:

Month Electricity Cost Michine Hours
January $3,255 | 460

February 3,485 500

March 4,100 : 600

April 3,300 470

May 3,312 470

June 2,575 , 350

July 3,910 570

August 4,200 590

Required:

Using the high-low method, calculate the fixed cost of electricity, calculate the variable rate
per machine hour, and construct the cost formula for total electricity cost. (16 marks)

(b) Azizi Ltd provides the following cost data for its single product:

$
Direct material 10
Direct labour 20
Variable production overhead 25
Variable selling and administrative costs 15
Total variable product cost per unit 70

Fixed costs:
Manufacturing $100,000
Selling and administrative 50,000

The desired rate of return is 25% and the investment is $ 810 000. The Firm has estimated
that production and sales will be 7,500 units.

Calculate:

(a) The total cost price per unit (3 marks)
(b) The mark-up percentage per unit (3 marks)
(¢) The selling price per unit (3 marks)

(Total 25 Marks)



QUESTION 2

Ready Electronics is facing a stiff competition from imported goods. Its operating income
margin has been declining steadily for the past several years. The company has been forced to
lower prices so that it can maintain its market share. The operating results for the last 3 years
are as follows:

Yearl : Year2 Year3
Sales $10,000,000 $9,500,000 $9,000,000
Operating Income 1,200,000 1,045,000 945,000
Average Assets 15,000,000 15,000,000 15,000,000

For the coming year, Ready’s President plans to install a just-in-time (JIT) purchasing and
manufacturing system. She estimates that the inventories will be reduced by 70% during the
first year of operation, producing 20% reduction in the average operating assets of the
company, which would remain unchanged without JIT system. She also estimates that sales
and operating income will be restored to year 1 levels because of simultaneous reduction in
operating expenses and selling prices. Lower selling prices will allow Ready to expand
market share. (Note: in your calculations round all numbers to two decimal places.)

Required:

1. Compute the ROI, margin and turnover for year 1,2 and 3 (4.5 marks)

2. Suppose that in the year 4 the sales and operating income were achieved as expected,
but inventories remained at the same level as in year3. Compute the expected ROI,
margin and turnover. Explain why the ROI increased over the year3 level. (7 marks)

3. Suppose that the sales and net operating income for year 4 remained the same as in
year3 but inventory reductions were achieved as projected. Compute the ROI, margin
and turnover. Explain why the ROI exceeded the year3 level. (6.5 marks)

4. Assume that all expectations for year 4 were realized. Compute the expected ROI,
margin and turnover. Explain why the ROI increased over the year3 level. (7 marks)

(Total 25 Marks)



QUESTION 3

Green Acres Ltd has two divisions: the Components division and the Goods division. The
Components division produces a part that is used by the Goods dmsxon The cost of
manufacturing the part is as follows:

Direct Materials | $10
Direct Labor 2
Variable Overhead 3
Fixed Overhead* 3
Total Cost 20

*Based on a practical volume of 200,000 parts

Other costs incurred by the Components division are as follows:
Fixed Selling and Administrative $500,000
Variable Selling ( per unit) 1

The part usually sells for between $28 and $30 in the external market. Currently, the
Components division is selling it to external customers for $29. The division is capable of
producing 200,000 units of the part per year. However, because of a weak economy, only
150,000 units are expected to be sold to the external market during the coming year. The
variable selling expenses are avoidable if the part is sold internally.

The Goods division has been buying the same part from an external supplier for $28. It
expects to use 50,000 units of the part during the coming year. The manager of the Goods
division has offered to buy 50,000 units from the Components division for $18 per unit.

Required:

1. Determine the minimum transfer price the Components division would accept.
(2marks)

2. Determine the maximum transfer price that the manager of the Goods division would
pay. (2 marks)

3. Suppose that the average operating assets of the Components division total $10
million. Compute the Components division’s ROI for the coming year, assuming that
the 50,000 units the Goods division expects to use are transferred by the Components
division for $21 each (16 marks)

(Total 20 Marks)



QUESTION 4

Each of the following scenario is independent. Assume that all cash flows are after-tax cash

flows.

a.

b.

Thomas company is investing $120,000 in a project that w1ll yield a uniform series of
cash inflows over the next 4years. (3 marks)

Video repair has decided to invest in some new electronic equipment. The equipment
will have a 3-year life and will produce a uniform series of cash savings. The NPV of
the equipment is $1,750, using discount rate of 8%. The IRR is 12%.

A new lathe costing $60,096 will produce savings of $12,000 per year.

The NPV of a project is $3,927. The project has a life of 4 years and produces the
following cash flows:

Yearl $10,000 Year3 $15,000
Year2 $12,000 Yeard | ?
The cost of the project is two times the cash flow produced in year 4. The discount rate is
10%.
Required.

1.

2.

If the internal rate of return is 14% for Thomas company, how much cash inflow per
year can be expected? (3 marks)

Determine the investment and the amount of cash savings realized each year for video
Repair. (11 marks)

For scenario ¢, how many years must the Lathe last if an IRR of 18% is realized? (6
marks)

For scenario d, find the cost of the project and the cash flow for year 4. (10 marks)

(Total 30 Marks)
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